Revised Answer key

ISRO SATELLITE CENTRE
Answer key of the written test for selection to the post of Scientific
Assistant-Chemistry held on 20/11/2016.
(Advt. No. ISAC.02:2016 — Post No : SA-01)

\ Answer Key \
\ Series A |_\ Series B |_\ Series C |_\ Series D \
Question || Correct Question || Correct Question || Correct Question || Correct
No. Option No. Option No. Option No. Option
Lot | b Lot | ¢ Jjo | D Jot | D |
| 02 | ¢ Jj o0 | b || | c J| 0 | C |
L 0 | b Jjo | B |l o0 | C J| 03 | A |
L 04 | ¢ Jf_o4 | D J| o4 | C J| 04 | B |
05 | B JfLos | A J|o | € J| 05 | A |
L 06 | B |06 | B || 0 | B J| 06 | B |
| 07 | D J |07 JAaeD| | 07 | C J| 07 | B |
08 | ¢ Jf_o8 | A J| o8 | D J| 08 | B |
L 09 J oA JL0o | B J|l 0 | D J|0 | B |
10 | D Jf 1o | ¢ Jjto | D J| 10 | B |
L oA o B jplu | b 1] c |
12 | B [ 12 | ¢ J| 12 | ¢ J| 12 | D |
. 13 | b J| 13 | B )| 138 ] D J| 13| B |
14 | oA Jf 14 | A J| 14 | C J| 14 | D |
15 | B {15 | B J| 15 | B J| 15 | A |
L 16 | A J| 16 | C || 6 | B J| 16 | B |
L v | B Jl v | c J| 17 | D J| 17 [AoD]
L 18 | oA | SN | 8 | c || 18 | A
L ¢ JfLw Jc JjLw | A Jl19 | B |
L 20 | ¢ Jj 2 | ¢ |}l 2 | D J| 2 | C |
21 | D Jf 2t | D Jf2t | A J| 2t | B |
| 22 | ¢ J| 22 | ¢ || 22 | B J| 2 | C |
23 | ¢ |23 | A J| 23 | D J| 23 | B |
24 | C |24 | B || 24 | A J| 24 | A |
| 25 | ¢ Jf2 | A J|2 | B J| 2 | B |
L 26 | B |2 | B || 2 | A J| 26 | C |
27 J ¢ |27 | B )| 27 | B J| 27 | C |
28 | b J[28 | B || 28 | A | IESENE
1 29 | Db J| 2 | B || 2 | ¢ J| 2 | C |
| 30 | b Jf 3 | B Jf 3 | c ]3] cC |
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Revised Answer key

\ Series A | \ Series B | \ Series C | \ Series D \
Question || Correct Question || Correct Question || Correct Question || Correct
No. Option No. Option No. Option No. Option
| 3t J ¢ Jf3 | b J| 31 | D J| 31 | A
| 32 | Db [ 32 | ¢ J| 32 | c J|32 | B |
| 3 | B J| 33 J ¢ )| 33 | A J| 3 | D |
| 34 | D |3 | ¢ J| 34 | B J| 34 | A |
| 35 J oA J3 | c )3 | A J| 35 | B |
. 3 | B [ 3 | B J| 36 | B || 36 | A |
| 37 JAaoD | | 37 | € || 37 | B J| 37 | B |
| 38 | A || 38 | D || 38 | B J| 38 | A |
39 | B J[ 3 | b J| 3 | B J[3 | C |
L 40 | C J| 4 | D J| 4 | B J| 4 | C
4 | B J 4 | D || 4 | C J| 4 | D |
42 | ¢ J| 42 | ¢ || 42 | D || 42| cC |
43 | B [ 4 | D J| 4 | B J| 4 | C |
|44 | oA J| 4 | C || 44 | D | 4 | C
L 45 | B J[ 45 | B J| 45 | A J| 45 | C |
L 46 | C || 4 | B || 4 | B || 4 | B |
47 | Cc [ 47 | D || 4 JAoD]| | 47 | C |
DN | 4 | c || 4 | A || 48 | D |
49 | c 4 | A J| 49 | B || 49 | D |
50 | ¢ Jfs0 | b J|s | ¢ J| 50 | D |
| St | b st | A J| st | B J| st | D |
| 52 | ¢ [ %2 | B J| 52 | c J| 52 | C |
| 3 | A J[ 3 | D J| 53 | B J| 53 | D |
| 54 | B 54 | A |54 | A J| 54 | C |
| 55 | A J 55 | B J| 55 | B || 55 | B |
L 56 | B [ 56 | A J| s | C J| 56 | B |
| 57 | B J|_ 57 | B )|l s7 | Cc J| 57 | D |
| 8 | B J[ 58 | A | SN 8 | C |
L 59 | B J[% | ¢ J|% | ¢ |5 | A |
L 60 | B JJ 60 | ¢ JJ e | € JJ 60 | D |

X — Question cancelled
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Answer given in the yellow color indicate the change in answer




